/—THOMPSON VACUUM PRESSURE UNITS—\

TTI1-1100 PRIMARY FLOAT SHUT-OFF VALVE
MILD STEEL OR 316 STAINLESS STEEL
TYPICAL 3", 4" & 6" PIPE SIZE
\ 1100-G 316 S.S 1100-F-3, 4 & 6 316 S.S.
1/2" SET COLLAR UPPER ARM FULL WASHER
1100-F-3, 4 & 6 316 S.S.

1/2"-13 x 2-1/4"
FULL WASHER HEX HEAD BOLT
1100-E-3,4 &6

1/2" SAE FLAT WASHER
VALVE DISC
1/2" SAE FLAT WASHER

1/2" LOCK WASHER

1100-A-3,4 &6

5/16"-18 x 3/4" HEX HEAD BOLT
316 S.S. VALVE SEAT

3/4"-16 HEX JAM NUT
1/2"-13 HEX NUT

1100-D 316 S.S.

1100-A1 CONE POINT SET SCREW

BRACKET

A
27N
\

///\A,:/ 5/16"-20 x 3/4" SOCKET

TTMA FLANGE L @)ﬁ HEAD SHOULDER BOLT

1100-D PART OF 1100-B
CONE POINT PIVOT ASSEMBLY
SETSCREW SPRING RETAINER
X 1100-C SPRING
©
1100-B
3/4"16 1100-A2 PIVOT ASSEMBLY
HEX JAM NUT STOP 1/4"-20 x 3/4"
HEX HEAD BOLT
3,4 &6 TTMA FITTING )
FLANGE GASKET 1/4" LOCK WASHER
1100-H .
LOWER ARM 1/4" SAE FLAT WASHER

A
A
5/8"-11 HEX NUT 7\
5/8" LOCK WASHER N /’/@
e

T ]

| o

SIDE VIEW OF TANK SHOWING \ 1100-J FLOAT BALL
LOCATION OF TTI-1100 FLOAT

304 S.5/316 S.S.
SHUT OFF VALVE

SHIPPING WEIGHT-LESS BALL
TTI-1100-3 (APPROX.) 15 LBS.
TTI-1100-4 (APPROX.) 17 LBS.
TTI-1100-6 (APPROX.) 23 LBS.

THOMPSON TANK, INC.

P.O. BOX 790 « LAKEWOOD, CA 90714-0790 » TEL: (800) 421-7545 » FAX: (562) 869-7214

\ @ www.thompsontank.com /

Thompson Units are manufactured under U.S. Patent No. 3315611, 3347263, 3398513 and 3971400 Patented Canada 1969

®Reg. U.S. Pat. & TM Off.



